January 20, 2021

Math 110
Winter 2021

Lecture 9

Qdds Ve Prdoa bt \ities

Ex?vess Prob - 3~Aﬁdw\\ﬁl YQAU(QA g»/ac’fion/ o
St Notabion,

EX\WQSS OAC\S: USRV\S 3 m‘whm
s b
A% 2§ imes W 0Y FHiwmes
E hoppmwd T happews.
1 \’osseA o Coin 100 H'V\QS/ ON\A (cmcleo\ 65

Nouls.

3 o 69339
P(roal): 2= s jodds S tolls 69232
65 TQ;\" 35&\5

65535 Mah 1L Enle
i\st"l l

AN xih‘w\es

£ happens E happens

odds Sov avedd E o.ve/VCk: b

E' Yimes




January 20, 2021

R %‘ro«\AwA Qe oS Py iﬂg Covds

52 Cords, 2b R, 12 Sace ) 4 Aes.
‘;tné OAAS g dvaw

D Red Card RO 26y p|itl)

‘2\ S‘Q(Q QN(A 12 Sae - L(Ogg ;{7\ 2210 l

N A Covd WSS e = 1ek2

w) R(eovs-o(ijv\(-:i 36 =

W o R

0dds Sor event E = G20
oddo nquinst gvell E =D b:0

15 0dds Sov event E ove QL3 then

QA a ©)- b
wo)- VR 'WE\ IR

ex. 50 Shals tn o bagkethall Ganme Uk Selecked),
S\\o’ﬁ, 22 Weve misseA S‘»ojrs.

23 weve MAQ

oddo fo make Shals 2% 22 = K\‘\ Al

P(Make) e — 1T - W p(age): =
) Gl 25 Ak Wl 25




January 20, 2021

OC\AS So« o Cevlain ?)ouv\e owe 421,

\) odds 0\3&&1\8—\ = 214

Y) ?(E)‘/Tig:%g LHZ\
odds ove /WO\ o b\
3} bi\' %Nﬁ\b’\ﬂ..

odds Sor Lakers T win C\\M\?cm ship this

Neow Ove 132
&1 bet = $2 N o

3700 —» $20 N et

Mow o o You meed % beb 1S You Wal Yool

Ak rafon @ e §500° 5 %}
P el by $ bel o 1(50)
5 N $s00Ne _7(500)

pa




January 20, 2021

15 ?(E) \S %)NQY\,T\\QV\_
P Simph§Y,

he o0dds Sov event B OWe —é—(%)

expresS §inal

Owswey in %

B¢ S\onse ?(‘E) —.b Notaim,
P(E =4

~ A NS

oMo Sov evenl E ove 2

320]

(\)( ?mss‘ma s Aass)= . |

P( poss) =.)
?(’_P/Q/S: - ) rlg%vc‘m\s
- g S
OAAC.) Sox FO\SS\"J\Z\ e 3 P? B\/
PSS Pasd




January 20, 2021

0dds So-/ CorVain Suie Qe @
Wow vwoch Ao L nw\ £ b wuke $T0

in MY v e
$3 bel ) £x be¥ 3 . X
£220 N N0 N 20 R0

220X = 2 CCﬁO)
,3(°‘°‘° @

Cooﬂfﬂ(%

Toss oo Coin owe =p W or 1 2 oulomes

Noss & Cotnt twie = By WT N O\S\mmes
W\ 5.4
s o Coinn OW(e,
1§ Veads  Toso 0gan  HE W1

15 Vadls, l?o“CAAlQ_ TL W 13
Y O 16

B o]




January 20, 2021

Choose o PGSS(OO)‘Q Sov AW Covd

oo weed A A“)CJTS
0 10 _10 o

with ve?ejr:’n‘ovx
A0, 000

No  vepe Vitiow N 9 < 7
- (5040
thoose o leFter, then > Ay, then chaose another

\cHrey. Lethevs ovt Case Sensitive  NO Ye\)di‘r.‘aVl
Sot Lehvs of digils. D2 - 10 9% 5\

- — — —

S hﬁO‘i,H%Oi

5 PC"_OP\Q/ Allen, BiW, Corel Dovid, E4
Seedy 2 o5 them
A AC AD AE ‘ _5_ 1 =20

Odlomes

1§ orde does Ml
mox‘\'*‘ar/

\0 WaNS

5 | Math] %%§1E! [Entr |
;

C
52
TN
ifemo sehecY
No VQP\CA(QMQ"\

O&q AMS Y\B\ W\O&'\Q\/




January 20, 2021

\2 Sivs\ - °Ly( aA&V S Awve qu\- Og \)%VQJY\M\\
*ﬁ"*‘“- JVQ‘M\\U Y\Qeo\‘) 9 v S the Cf)ome.
\’\Ow W\N\"& WwWa S Cawn 1"\\'3 be Aone?

\'ZC5

ca S\Jﬂm{ L otto

Seledd ©  Numburs Srom 1 tus,

Sed L Mg NOW &Y Grom L T2

1G5 o4 :%\1/0?5/ 276

A Slm\\AwA deck o P\G\‘(i’\a Covds,

52 Cards RS,
Droaw & Cw&s ) No YQID'G(GW\QY\-}/ ovo Aoes

’M‘\’ ”ﬂ\o}ﬁw .

D Wow wany  ways_Con thee be

AOV\C?

2) Wow many  ways Can We o 2 Aces?
4o = 6

C
b) e = -2 - 6 - L’L
) P2 fe) 62% \226 221&
Nk

QAA‘; o Avaw 2 Aws owe /
W T 51 £95°0

odds 053(»:1\51( Ammms 2 heswe 22031




R box has 2 Dimes, I Nidkels, Dvaw 2 (oins,
WO Y&?\wew\ ent

P(108): PN = i
W & VRS o ks

ToYa\ Q—b\.i ,?(Tﬁa\¢)$L2
ot L1 £ L2 © Std

T2 S\bed mel

% Tewales , 12 Males, Select 2 people

\2 _L_ \32
PO Sewded = “ 271" [0

2 Fewnds) P20 RM\‘; A Females LA
6 2
& | op PR T
A a2 we L & L2 B O

R

O | 32 4 S-Wek el

January 20, 2021



January 20, 2021

AR)=.6  P(H):n P(Aond B)-.15
O PR )=\-.b 3) Dvaw \\7‘:““ Disant
AM &
E)
> B
YRR or D) \) 1) P(B\A)
“P(R) &P(B) P(Rowe D(fonrB)
R R R L) P(ﬁ)
|25\ 4
- -%5 _ 'Z :@
OR) -1  P(p):=.8 Rrabdoe
) (qc\e?méwﬁ evedls
OP(B) A -FB) 2) p( Rrond B)=R(A): PCB)
A2\ 49)(9)=} 26
DV A ov ?» ) ?( oW o @ 0‘\\‘(\

p(R) & 9B Rrondd)

M5 k‘@*’)’&’-

11

098 v M =153




January 20, 2021

Q Somes 1 5} S 5 ot

V) Bow many Way{s Can this be Aone?‘

2) Yow wony Ways Cane We Select 2?%3\“1
C . C -2y
40 1y 70
Comit (0
M), Sedem 3
%) P( OF &> > c 22

3360 {5904 M {2 {Enier |- %8_5

WRE on DG \> 314

wWaich Wided ow Prob. with ay \eadt A,




